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MASS TO MOLE STOICHIOMETRY

Answer the questions. Write answers on new paper.

1. In plhotosynthesis, waker reackts withh carbon dioxide to give oxygen

and glucose (COH]QOC)’ Wrike and balance the clhemical equation.

How many moles of CO, are required ko make 12009 of glucose?

2. KSDO + /3\L(NC>3)3 — 3KNO, + AIPO

4 3 4

a. What is the mass of potassium nitrate that is produced when

204 moles of potassivm plosphate react?

b. IF 580g of aluminum phosphate are Formed, lhow many moles of

aluminum nitrake reackted?

3. N2+ 202 —> NQOLL

a lIF 150g of NQOLL was produced, lhow many moles of O,

were required?

b. IF 40x103 moles of oxygen reacted, lhow many grams of N,

were needed?

4 CaCy+ 2H,. O —» Co(C)I—l)2 + C H

2 2 2 2
a. If you have 550 mol of COCQ, low much C2|—|2 do you get?

b. How many moles of water are needed wlhen 6509 of C0C2 lave

reacted?




